396-5663Y1

_ Sentinel Row Control / Zip Valve
5#” f”p aimt Mounting Instructions for
s Orthman 1tRIPr Il

Kit Number: 515-01-400225

Description: Sentinel Row Control / Zip Valve Mounting Bracket for
Orthman 1tRIPr Il (Casted Row Unit)

Sentinel Confiqurations

Gen 3 LiquiShift Configurations

396-5663Y1 - Sentinel / Zip Valve Page 1 Revised: 8/4/2022
Mounting Instructions for Orthman © 2022 SurePoint Ag Systems, Inc.



?

Parts List

SurePoint
“Ag Systems
ITEM NO. |PART NUMBER |[DESCRIPTION QTY.

1 069-5589Y1 Orthman 1tRIPr Il Hose Mount Spacer 1
2 300-040006-5 1/4” x 3/8” Hex Head Bolt - G5 2
3 300-050208-5 5/16” x 2-1/2” Hex Head Bolt - G5 2
4 300-080108-5 1/2” x 1-1/2” Hex Head Bolt - G5 1
5 302-0400120108 [1/4” Round Bend U-Bolt - 3/4” x 1-1/2” 2
6 321-04 1/4” Nylock Nut 4
7 321-05 5/16” Nylock Nut 2
8 321-08 1/2” Nylock Nut 1
9 330-08 1/2” Flat Washer 1
10 331-04-SS 1/4” Lock Washer - Stainless Steel 2
11 400-5588Y1 Orthman 1tRIPr Il Hose Mounting Bracket 2
12 757-97349A200 |Size 6 Thread Forming Screw for Plastic - SS 3

Valves not included in kit.

396-5663Y1 - Sentinel / Zip Valve
Mounting Instructions for Orthman

Page 2
© 2022 SurePoint Ag Systems, Inc.

Revised: 8/4/2022



7} Step by Step Instructions
SursPoint Sentinel Row Control

Ag Systems
1. Mount the 400-5588Y1 brackets to the row unit on the locations shown, using the provided hardware.

2. Mount Sentinel Row Control valve on the top or bottom bracket using the hardware provided.

Step 1

Bottom Bracket

3. Use the provided u-bolts to secure the hose to the mounting bracket.

— Step 3

Top Bracket
Bottom Bracket

396-5663Y1 - Sentinel / Zip Valve Page 3 Revised: 8/4/2022
Mounting Instructions for Orthman © 2022 SurePoint Ag Systems, Inc.



7} Step by Step Instructions
SurePoint Gen 3 LiquiShift

Ag Systems
1. Mount the 400-5588Y1 brackets to the row unit in the locations shown, using the provided hardware.

2. Mount Gen 3 LiquiShift zip valve on the top or bottom bracket using the hardware provided.

Step 1

Bottom Bracket

3. Use the provided u-bolts to secure the hose to the mounting bracket.

Step 3

e \

Top Bracket

Bottom Bracket

396-5663Y1 - Sentinel / Zip Valve Page 4 Revised: 8/4/2022
Mounting Instructions for Orthman © 2022 SurePoint Ag Systems, Inc.





